

E.g. $\frac{d}{dx} (\log_{10} (x^3 + 1)) = \frac{1}{(x^3 + 1) \cdot \ln(10)} \cdot 3x^2$

$$= \frac{3x^2}{(x^3 + 1) \cdot \ln(10)}$$

$\frac{d}{dx} (2^{\cos(3x)}) = 2^{\cos(3x)} \cdot \ln(2) \cdot (-\sin(3x)) \cdot 3$

$$= -3 \ln(2) \cdot 2^{\cos(3x)} \cdot \sin(3x)$$

$\frac{d}{dx} (x^\pi \cdot \pi^x) = \frac{d}{dx} (x^\pi) \cdot \pi^x + x^\pi \cdot \frac{d}{dx} (\pi^x)$

$$= \pi \cdot x^{\pi-1} \cdot \pi^x + x^\pi \cdot \pi^x \cdot \ln(\pi)$$

$$= \pi^x \cdot x^{\pi-1} (\pi + x \cdot \ln(\pi))$$

Oct 5-5:14 PM

Method of Logarithmic Differentiation

$y = x^x \cdot \left[\frac{dy}{dx} = ? \right]$ *fixed #*

Cannot use power rule. (Power rule: $\frac{d}{dx} (x^n)$)

Cannot use the rule for $\frac{d}{dx} (a^x)$

- Take $\ln$ of both sides: $\ln(y) = \ln x^x$
- $\ln(y) = x \ln x$
- Implicit differentiation: $\frac{1}{y} \cdot \frac{dy}{dx} = \frac{d}{dx} (x \ln x)$

$$\frac{1}{y} \cdot \frac{dy}{dx} = 1 \cdot \ln x + x \cdot \frac{1}{x}$$

Oct 5-5:18 PM

$y \left(\frac{1}{y} \cdot \frac{dy}{dx} \right) = (\ln x + 1) y$

$$\frac{dy}{dx} = (\ln x + 1) \cdot y$$

$\frac{dy}{dx} = (\ln x + 1) \cdot x^x$ *derivative of x^x*

E.g. $y = (\sin x)^{\cos x}$

$\ln y = \ln \sin x^{\cos x}$; $\ln y = \cos x \cdot \ln(\sin x)$

$$\frac{1}{y} \cdot \frac{dy}{dx} = -\sin x \cdot \ln(\sin x) + \cos x \cdot \frac{1}{\sin x} \cdot \cos x$$

Oct 5-5:22 PM

$y \left(\frac{1}{y} \cdot \frac{dy}{dx} \right) = (-\sin x \ln(\sin x) + \frac{\cos^2 x}{\sin x}) y$

$$\frac{dy}{dx} = (-\sin x \ln(\sin x) + \frac{\cos^2 x}{\sin x}) \cdot (\sin x)^{\cos x}$$

Method of Logarithmic Differentiation. $g(x)$

Take the derivative of $y = f(x)^{g(x)}$

- Take $\ln$ of both sides: $\ln y = \ln f(x)^{g(x)}$
- Property of $\ln$: $\ln y = g(x) \cdot \ln(f(x))$
- Take $\frac{d}{dx}$ of both sides:

Oct 5-5:24 PM

$$\frac{1}{y} \cdot \frac{dy}{dx} = g'(x) \cdot \ln(f(x)) + g(x) \cdot \frac{1}{f(x)} \cdot f'(x)$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = g'(x) \ln(f(x)) + \frac{g(x) \cdot f'(x)}{f(x)}$$

- Multiply both sides by y

$$\frac{dy}{dx} = \left(g'(x) \ln(f(x)) + \frac{g(x) \cdot f'(x)}{f(x)} \right) y$$

- Replace y by $f(x)^{g(x)}$

Oct 5-5:27 PM